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[braille page 1] 
In this booklet, ____ indicates a missing number.  
 
Practice question 
4 – 1 = ____ 
…………………………………………………………………………………….…………
  
1. 6 – 4 = ____ 
…………………………………………………………………………………….………… 
 
2. 99 + 1 = ____ 
…………………………………………………………………………………….………… 
 
3. 7 + 8 = ____ 
…………………………………………………………………………………….………… 
 
4. 22 + 7 = ____ 
…………………………………………………………………………………….………… 
 
5. ____ = 15 − 2 
…………………………………………………………………………………….………… 
 
6. 20 + 30 + 50 = ____ 
…………………………………………………………………………………….………… 
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Test administration guidance 

There is no specific guidance for questions 1 to 6. 
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[braille page 2] 
7. 6 × 2 = ____ 
…………………………………………………………………………………….………… 
 
8. 90 – 80 = ____ 
…………………………………………………………………………………….………… 
 
9. 43 – 5 = ____ 
…………………………………………………………………………………….………… 
 
10. 84 + 12 = ____ 
…………………………………………………………………………………….………… 
 
11. 20 + ____ = 70 
…………………………………………………………………………………….………… 
 
12. 97 + 5 = ____ 
…………………………………………………………………………………….………… 
 
13. 47 + 50 = ____ 
…………………………………………………………………………………….………… 
 
14.     of 14 = ____ 
…………………………………………………………………………………….………… 
 
15. 2 ÷ 2 = ____ 
…………………………………………………………………………………….………… 
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Test administration guidance 

There is no specific guidance for questions 7 to 15. 
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[braille page 3] 
16. 8 × 3 = ____ 
…………………………………………………………………………………….………… 
 
17.  3 + ____ + 6 = 16 
…………………………………………………………………………………….………… 
 
18.  5 × 12 = ____ 
…………………………………………………………………………………….………… 
 
19.  85 – 21 = ____ 
…………………………………………………………………………………….………… 
 
20.  92 – 60 = ____ 
…………………………………………………………………………………….………… 
 
21.  52 + 29 = ____ 
…………………………………………………………………………………….………… 
 
22.  80 ÷ 10 = ____ 
…………………………………………………………………………………….………… 
 
23.  ____ − 12 = 36 
…………………………………………………………………………………….………… 
 
[braille page 4] 

24.      of 12 = ____ 
…………………………………………………………………………………….………… 
 
25.  91 − 48 = ____ 

:::::::::::: 
End of test 
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Test administration guidance 
There is no specific guidance for questions 16 to 25. 
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